Amana DA3080 14 - DOOR SAFETY SWITCH

DOOR SAFETY SWITCH

Amana Residential Amana DA3080 Washer Parts Parts Diagram 14 - DOOR SAFETY SWITCH
Click on the part number to view part

1 21081 Screw, 10-24 X 1/2RD H
2 20492 M0270504 Washer

3 02928 Not Available WASHER

4 'Y00000000 Not Available SEE NOTE DRAIN TUB
5 23591 Diaphragm

6 23592 Not Available ARM

7 Y02370 Not Available SCREW,10-24X15/16 HEX
8 22001 Nut, 10-24 Nylon Hex BR
9 51783 Screw, 6b-20 X 7/8 HeX
10 23540 Not Available SWITCH

11 23951 M0282009 Nut

12 22783 Not Available BRACKET


http://www.pwslaundry.com/c-501861-residential-amana-da3080-washer-parts-for-repair-service
http://www.pwslaundry.com/i-10394113-amana-21081-washer-screw-10-24-x-1-2-rd-h.html
http://www.pwslaundry.com/i-10396049-amana-m0270504-washer-dryer-washer.html
http://www.pwslaundry.com/i-10394114-amana-23591-washer-diaphragm.html
http://www.pwslaundry.com/i-10394071-amana-22001-washer-nut-10-24-nylon-hex-br.html
http://www.pwslaundry.com/i-10394115-amana-51783-washer-dryer-screw-6b-20-x-7-8-hex.html
http://www.pwslaundry.com/i-10396047-amana-m0282009-washer-dryer-nut.html

	Amana DA3080 14 - DOOR SAFETY SWITCH

